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(32&%) o =) wastd | 24 su= us
At2H(17H/300~3509) 1,215 1,611 396 -24.55%
Hij (17H/650~700g LK 2|) 1,932 2,036 104 -5.08%
9(17}/1kg) 2,755 2,868 113 -3.92%
HYj 2= (1% 7|/1kg) 5,480 6,758 1,278 -18.90%
2f (1kg) 8,431 - _ ]
CH==(1kg) 12,084 ; _ ]
Ef K| 20 7| (=A/aFE 4H/6009) 13,968 13,260 708 5.34%
wEAALD CH 7|(10}2]/1kg) 6,388 6,525 138 -2.11%
(165=) A D 7|(Z A5 A1/6009) 51,540 - - -
A 07| (=Y 4t/S4/6009) 30,838 - - -
chZF 1T/ E2H/307)) 5,214 4,018 1,196 29.78%
Z=7|(10t2|/=A/15m) 1,467 1,757 290 -16.51%
ZHX|(10}2] /= AH60cm) 6,438 4,948 1,490 30.12%
1s50{@ot2|/=4t/30cm) 2,125 2,588 463 -17.87%
™ el (10}2] /2] A| O} AH/40m) 4,247 3,830 417 10.88%
5l = @ &l 0{(10F2| /= AH/30cm) 4,213 4,030 183 4.55%
%H(20kg) 48,049 48,799 750 -1.54%
Ok1i}(1kg) 2,456 1,518 938 61.81%
7H0HS (1kg) 8,673 8,093 580 7.16%
172 (ZAH1kg) 29,306 - - -
UTLE(Z 22 /1kg) 1,398 1,523 126 -8.24%
S H(12/300g/2 %K Z) 1,116 1,241 125 -10.07%
M I = Al8o(18L/Z7|E) 5,569 7,454 1,886 -25.30%
(145=) A Z(1Y 350me/A017H) 1,253 1,253 =3t
OHZ=(15 500me/2 04 &) 1,445 1,445 H3t
AZ=(1Y 350me/QAl) 4,000 4,000 H3t
OHZ= (15 500me/Q| Al 4,000 4,000 H3t
3|2 (1L) 1,611 1,606 5 0.31%
A9 (1L) 1,413 1,408 5 0.36%
=S92 (1L) 943 939 4 0.43%
v/ [IPSEIES Ef X| ZH[(160~200g/= L &1/ 2| ) 12,000 12,000 Bt
2F=) AFZAAH(160~200g/ ==L AH/ Q| Al 12,000 12,000 =




o G2 (160~200g/=Li &t/2| &)
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(325 5) (i 4) DEAZ  MAIZ  FILAE MR AIXERY o|OtE SHOlE Zo0lE
AFDH17H/300~350g) 1,250 1,000 1,250 1,100 1,220 1271 1316 1,316
i (174/650~700g LH <) 2,000 1,750 1,750 1875 1,500 2133 2225 2,225
o (170/1kg) 2,500 2,500 2,500 2300 2,000 3480 3480 3,280
i 25(1 2 7| /1kg) 5,000 5,500 6,000 4970 4330 5480 6280 6,280
4t (1kg) 6,000 7,000 6,000 7500 8500 9450 11,500 11,500
CH 2 (1kg) 12,000 12,000 10,000 10,000 14,000 13,900 12,370 12,400
E{X| 77| (2 Ak/AFHA AH600g) 14,400 13,800 14,500 14,880 13,000 13,680 13,740 13,740
wxar cH17|(10+2]/1kg) 6,500 5,500 6,500 5800 6,000 5800 7,500 7,500
(165 =) 2| 17| (2 A/54A1/6009) 45000 42,000 54000 58800 60,000 52,800 47,400 52,320
4|1 7|(2 2 AH/S Al/600g) 24,000 30,000 24000 36000 27,600 34,500 34,000 36,600
cHzE(1EH/ E 2H/307)) 5600 5500 4,900 4,900 4,450 4,990 5580 5,790
Z7|(10F2] /2 AH/15m) 1,600 1,000 1,000 2,000 1,500 1,200 1,500 1,500
ZtX|(1012]/= AH/60cm) 7000 6000 6500 6000 7,000 5400 6,800 6,800
TE0{(10t2|/=AH/30am) 2,000 2,000 2,500 2,500 2,500 1,600 1,600 2,300
o4 Ef (10}2] /2] A| OFAH/40cm) 4,000 3,500 3,500 4,500 5000 4,980 3,500 3,500
SH= © & 0{(10F2] /= At/30am) 3,300 5,000 5,000 4,000 5000 3480 3,900 3,900
#H20kg) 49000 47,000 51,000 44,900 45500 47,990 49,500 49,500
oF}H(1kg) 2,000 2,500 2,000 2560 2,750 2,980 2,580 2,280
740bS (1kg) 10,000 8,000 6,000 8500 8500 6980 10,900 10,500
DEIIE(2AH1Kg) 30,000 30,000 34000 24200 27450 29,800 29,500 29,500
o) 742 (= 25 /1kg) 1,500 1,500 1,450 1,300 1,400 1,280 1570 1,180
=5(12/300g/2AHK| ) 1,500 1,000 1,500 1,000 950 9080 1,000 1,000
= Algon8l/27|2) 5,400 7,200 4,500 4500 4500 6880 6600 6,600
(1453) AZS(14 350me/A0)F) 1,400 1,260 1,250 1,300 1,250 1,180 1,190 1,190
0425 (1 8 500me/A O &) 1,500 1,430 1,450 1450 1,400 1,410 1460 1,460
A Z=(14 350me/Q|Al)
Qi =1 500me/2[4])
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